Hint 1: The Note


You have already been given the clues you require. Other than the confession, there has been no further information added to the table.

In the light of Tim's confession, re-look at the starting information, covering what happened when you discovered the body of Roy. When you consider the confession and the starting information, look for the clue within a clue, in "Clue Number 3: The Note".

- what cannot be accounted for that should raise your suspicions?

Hint 2: The Body


This time, again in the light of Tim's confession, re-look at "Clue Number 1: The Body". Tim is absolutely positive about the details of the murder, as he saw it.

- what doesn't tie up?

- and more importantly, what are the implications?

Hint 3: The Wrong Solution


Up to a point, the logical deduction given in the original solution was correct. However, the same does not hold true for all the facts that these deductions were based upon. So rather than trying to see were the logic was wrong, consider instead what is completely missing, or where a major decision was made incorrectly based on Hints 1 and 2 (i.e. nothing else has changed).

